DU AP fr i i

MO

o 00 OOoOoOoOoooooOooboobOOooodoboooOoodoOo
i o 5 N G 5 O . O S s
ool doOooooooooon

[Abstract] Based on the distinction between proficiency tests and achieve-
ment tests, this paper argues that the present Chinese Proficiency Test (HSK) is
by its nature an achievement test. It has been used incorrectly as a proficiency
test and over —extended its boundary of application as an achievement test as well
that causes many of the applicational problems. To a better meet the needs of us-
er"s, the HSK should set up two different series of tests; a proficiency test and
achievement test to build upon comprehensive study and investigation of the Chi-
nese language performance structure and curricula contents respectively.

[Key words] HSK; achievement; the applicational problems

DDDDDD(HSK)DD51984DDDDDDEI199OEIDI:|EIEII:IEIDEIEI20EIEI




s

JAER
i A
I, 2
WAy
L E:
— IR
T
KB
EShoR
5o

a3

i

.

pei

=

T F

100~800

3% Al b

=

[ )

= .VI4EY
DUIEBE

Al —
- =

{1 7 - 2 20

VB KT 2
HERY
P RE

R, R

IIEEERIE

LB fig 7K

Z— L

s

Py

I BOE AR

T4 A 4
HEL 120 27

AR
R R
- BUA K

R -

SH R
. Jf-

iR e —)

V.3 e 5 {
K IE 7}<ﬁ_

i |

SR E

5 (IS ALdl
;éﬂﬁﬁmﬁ%wﬁdmx

i g g 2 L
giﬁﬂﬁ%1

%%ﬁfﬂﬁﬁmﬁﬁﬁg
mﬁﬁ$®%%%&§§

»000; 7 % 3000 ZBEY 2

VA
P
& b
Tt

m%@ﬂ%
sy EFRUA
A
[
Fif 1A »
s i B B0 89

i
iz g q
i%%ﬁ%ﬁ?%ﬁﬁ@:
;iﬂﬁﬁﬁﬁﬁl%Sﬁ

>ﬁﬂ%%ﬁ#¥ﬂﬁ@ﬁ

&ﬁiﬁﬁﬁﬁﬂ%%ﬁj\

— A

a&%%ﬁm%mﬁ—

RN TR 2
LN E:m\ . ? ’
j%ﬁﬁﬁﬁﬂhﬁﬁﬁﬁv‘
ﬁf4ﬂ%ﬁ%mﬂ%ﬁh»

e

; o
Fm%ﬁ%%ﬁﬁﬁﬂi‘
3 %aﬁxygﬁJM\?

] |
ﬁ;ﬁ@gﬁﬁ%immﬂ

4@%?&@%%%ﬁ'
Y| &ﬁmﬁﬁﬂﬁﬁ?@i&éﬁ?f ‘

%ghﬂ%ﬁy%ﬁ@yi
Ky, F B LB

g lIme’

g %
Bt
ﬁ"fﬂ [

e v ey |
e it F AR AT
z 1~5 g&%_fﬁg}:
tiﬁﬁwﬁ@%i:
%ﬁﬁﬁ¢gmg§§§_
R
VL [Eﬁﬁf‘%zgiﬁﬂﬂifj&%gﬁ/t
) Jaig B RFEL
B
o BN
%%%ﬁﬁﬁﬁm%@ 
E%ﬁﬂgﬁgwﬂﬂﬂ
m%myﬁﬁégéﬁk
RIS S

2ﬁ&mﬁﬁ%§y 

207

VI 0 i g
SR fE ) 2
T 7

ST i % R
K% 5 g 3R

TR i G BF
At e, R
Tyt HE
R 2 B g (T
EEY T ug -

TR AR R g LR
GKT-59~11 YR
VRN 5 2 R

T g5 gy e A
TRE KT, 2ER
Ty ) Pk T
b 2 Ak, A
DR g g T A
T L4l @R %
LT R H
A e (A
KT 4k 2 Bk

o ez g R
2 R R, B D
LI g vy s B AL
HE 2 iy g B R
U 1988 MR IRHK—
CPReHeE, m T
SE A 2 E K

S

T BE Ky R
InitE 2 ey, g B
T 2 s R T
R, g Ak
SIS e AN



2 4% . B
#Eﬁﬁﬂﬁth(rpw

N ang&(fﬁ*“)ﬁ

K j(é]jﬁ)ﬂﬂﬂk

o (HE
jJI’J(SF‘ﬁ {E;}”}f’fr’ -
7z, EJB‘Jﬁlﬁ%H& 3

}Jﬁf’ﬂﬁﬂi%u ﬂg;ﬂﬁaﬂ
A WJ* 'ﬂ_ /P\E Qi rﬁ ,:

‘—kjﬂﬁ%ﬂ § .. U—*{Wﬁ?jﬂ

- e
R
B

£ W

HoKI

fm ox

jm]

N

7By
A T i
L VN
=3
HARE
B1Ea
kDA

TR
L#RA

05H
Wik s
% =
WE; 2N
EEN
K ABE R
Ui, H

k> T
K45



Wi
E ; ég"aﬂsﬁa
.ﬁ%wﬁ%@







oSG Y 5 RO BE
IR~y g
— B gy, AR
M6 = % % (jE ke
PN OE T 7[@5%4
£ e
I T g % HMLF

% 3Lk

i

[1]dbxt E:ﬁ':z "FJJ
2006 445 o g (198°
o7

(2] JbaTiE 2 4 Hllm Z
2 W (1995 4F5F 1
[15] Ib ST 2 oL i
(1998 425 1 )
b 50E 2 e gy K 2D
(5] B A oy i k2 &
Wit . 1996
EEITEEE T ¢
WAt 2001
L70 X4 H1 5 4. g 3B K
(81 XUBEM: 52 40y 1B K
Lo XUBEM: 5 g1y 3B K
[10] 3Kl 3 4. g8k

1 \

) :ﬂﬂ%ﬁu%‘r%
'“‘Eﬁfﬁ1%

LY 75 5 i

T FFLE 1 i
R —

: AREE N
# AL 2003 4

1, 2003 4E 485 2 Jig

SR

LRy





